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



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1S         2S                   2P                                                               
 
 
 
 
 

        



–– 
 

 ٤

 
 
 
 
 
 
 
 
 
 
 

C6 
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
 

C6 
 2S2       2P2He 

 

df
 
 




2 
He 
10 
Ne 
18 
Ar 
36 
Kr 
54 
Xe 
86 
Rn 
118 
Uuo 

   
Cr 24 1s2 2s2 2p6 3s2 3p6 4s1 3d5 
Cu 29 1s2 2s2 2p6 3s2 3p6 4s1 3d10 
Mo 42 1s2 2s2 2p6 3s2 3p6 4s2 3d10 4p6 5s1 4d5 
Ag 47 1s2 2s2 2p6 3s2 3p6 4s2 3d10 4p6 5s1 4d10 
Pt 78 1s2 2s2 2p6 3s2 3p6 4s2 3d10 4p6 5s2 4d105p6 6s1 4f14  5d9 
Au 79 1s2 2s2 2p6 3s2 3p6 4s2 3d10 4p6 5s2 4d105p6 6s1 4f14  5d10 



–– 
 

 ٥


 

  - 
   

      


 

C6   
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 
 

  
 

 
 


